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XA TN T RAETORE EoE KE R

BiEH 20164611 H29H KIEH
£ W BEI MY -2 57 6,059 Yard Par T2

TOTAL | JEf | TOTAL | NET ToTAL| Mgz | TOTAL NET |
BRZEA AEE R
240 1 252 4 2160 2
- E 4 lour! IN |TOTAL [HDGP| NET K & out | IN [ToTAL [Hpce| NET
=) A ih 40 | 38 78 *| 4.8 |73.2 & * % 40 | 40 80 *| 108 [69.2*
H # B X B 38 | 41 79 *| 72 |71.8 h # = 42 | 44 86 *| 13.2 |72.8*
p? Z — B 42 | 4 83 *| 7.2 |75.8 B X E A 44 | 42 86 *| 120 |740*
B M F B 44 | 49 93 | 19.2 1738 B R # % 47 | 48 95 | 15.6 |794
B TOTAL | MEfiz | TOTAL | NET | ToTAL| MEfiz [ TOTAL| NET
WA FEiBA
249 2 253 5 1227.0 10
K £ lout| IN |TOTAL |HDCP| NET K %  |our| IN |TOTAL|HDCR| NET
Z # B =X 39 | 40 79 *| 60 |730 /2 n - 41 | 39 80 *| 60 |740%
A + A F X 40 | 40 80 *| 7.2 |728 % AKX B H 42 | 4 83 *| 72 758%
B A #® B 47 | 43 90 *| 156 | 744 W &w = B 46 | 44 90 *! 12.0 [78.0
# X ® O #H | 43 | 47 90 | 168|732 & B X B 45 | 49 04 | 168 [77.2*
TOTAL | JEfiz TOTAL | NET TOTAL H'[Eﬁ | TOTAL | NET
i FH=B
250 3 - 254 6 1219.2| 3
K 4 out| IN |TOTAL [HDCR| NET ' K % out| N [ToTaL|HpcP! NET
& O OH - 38 | 44 82 *| 84 736 R d & ¥ 39 | 44 | 83*| 72 |758
® % x® #H 38 | 45 83 *| 84 7486 E B B & 44 | 40 84 *| 108 [732*
B B OB = 30 46 85 *| 12.0 [73.0 w H B g 44 | 43 87 *| 144 |7286*
A g B R 44 AT 89 3.2 1758 = T R e R 48 4 80— 5.6 [ 734
L ..
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Wi H . 20164E11H29H RIER
2 B WEEY DY —25F 6,059 Yard Par 72

TOTAL | JE# | TOTAL| NET TOTAL | JE{E | TOTAL| NeT
FHEA BiRR
256 7 (2254| 9 262 | 10 2200 4
K & OUT | IN |TOTAL [HDCP| NET I P OUT | IN |TOTAL |[HDCP| NET
X & & H 41 | 41 82 *| 84 |7136* = £ H = 41 | 45 86 *| 108 |75.2*
i A 42 | 42 84 *| 7.2 [768*| W W B 41 | 45 86 *| 144 [71.6*
n m g8 - 48 | 42 00 *| 13.2 | 76.8 ¢ X — B 46 | 44 90 *| 16.8 [73.2*
A X F H 45 | 48 93 | 18.0 |750* X ¥ E 52 | 43 95 | 180 !77.0
TOTAL | Jmiz | TOTAL| NET  TtotAL| JEfz [ ToTAL| NET
BRI AHER
258 8 [(2160| 1 263 | 11 |2224| 6
K % OUT | IN |TOTAL|HDCP| NET K % lour| w [toTAL[HpeP| NET
B A B X 44 | 39 | 83*|120|M0*| R # E A 44 | 41 85 *| 9.6 |754
L [ 43 | 44 87 *! 13.2 |738*% 3L 1 B |46 | 42 | 88 *| i32|748*
) [ 2 46 | 42 88 *| 16.8 |71.2* =3 [ i 45 | 45 90 *| 15.6 | 74.4*
= H = 50 | 47 97 | 204 |766 | 2 % 43 | 47 g0 | 16.8 !73.2*
TOTAL | JEf | TOTAL| NET TOTAL | EfL | TOTAL| NET
=5 #RZEB
261 9 2226 7 264 | 12 [221.2| 5
K % tout| N [ToTaL [npcp| NET K % ouT| IN [TOTAL |[HDCR| NET
& W M Xk 40 | 45 | 85*| 96 |754*| |1 B K R B 45 | 41 86 *| 120 {74.0*
M B 8 Ok 43 | 44 87 *| 108 |76.2* Hhol B O B 44 | 42 86 *| 13.2 |728%
ST 7 47 | 42 | 89 *| 180 |710*| (£ B & 1T | 48 | 44 | 92*| 168 752
A5 % = R 47149 | 96 | 21617441
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BEERE . 20164E11 7 29H K H

& B WA P —2 57 6,059 Yard Par T2

TOTAL | JBf | TOTAL : NET
A5 N

273 | 13 [2250 8

£ &  |our| IN [ToTAL|HDCR| NET

R R 47 | 43 90 *| 156 |744*
N H OB OB X 45 | 46 | 91 *[ 168 |742*
2 B #® A 45 | 47 92 *| 156 |764*
& B m® % 50 | 45 | 95 | 180|770
h TOTAL | JEfiL | TOTAL| NET

Q=) '

279 | 14 (2274} 11

K 4 ' 'OUT | IN |TOTAL [HDCP| NET

L . 4 45 | 45 | 90 *| 156 |744*
i i# | 44 | 50 94 *| 16.8 |77.2*
B fik - 51 | 44 95 *| 19.2 |75.8*
TOTAL | 1t | ToTAL| NET

FEifAB

! 302 | 15 |231.2] 12

K £ ouT | IN |TOTAL HDCP| NET

bl 3 h 47 | 48 95 *| 21.6 |734*
iR Lii] 49 | 48 97 *| 216 |754*

N B F & g2 | 58 | 110 *| 276 [824*

L




